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> PILIZE 1T 5 ImageBa# % F FF

from PIL import Image

example.Jpg
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img = Image.open('example.jpg' )} —
img.show()

img.save('save.jpg')

> OpencvZ Fl FE

import cwv2
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img = cv2.imread( 'example. jpg’)
cv2.imshow( 'show this image',img)
cv2.imwrite('save.jpg’',img)

example.jpg save.Jpg
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B {5 1 X % (1500,1000)D EEE & 3 5 (PIL)

from PIL import Image

ihpc@ihpc-OptiPlex-9020:~/python-explain$ python size.py

img = Image.open('example.jpg') ('the size of this image is: ', (3060, 2146))
print ('the size of this image is: ', img.size) ('the changed image size is: ', (1500, 1000))
img resize = img.resize((1500, 1000))

print ('the changed image size is: ', img_resize.size)

img_resize.save('resize.jpg')

[E{&H A X’éOﬁ{%l:ﬁ?ﬁl]\(Opencv) RGB

, t vz ihpc@ihpc-0ptiPlex-9020:~/python-explainSipython reduce.py
nport cv ('the size of image is: ', (2146, 3060, )

('the reduced 0.3 times image size is: ', (644, 918, 3))

imgl = cv2.imread('example.jpg',1)

print ('the size of original image is: ', imgl.shape)
imgl resize = cv2.resize(imgl, None, fx=0.3, fy=0.3, interpolation=cv2.INTER_AREA)
print ('the changed original image size is: ', imgl resize.shape)
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> [BIERE{RI0E (PIL)

from PIL import Image

img = Image.open('example.jpg')
img rotate = img.rotate(90,expand = True)
img rotate.save('rotate.jpg')

73 A

import cwv2

img=cv2.imread('example.jpg’',1)
img9@=np.rot9e(img)
cv2.imwrite("rotate.jpg",img9@)

> [BlER[E[{R90/E (Opencv)
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> PIL

from PIL import Image

img = Image.open('example.jpg')
img.show()

img_gray = img.convert('L")
img_gray.save('gray-PIL.jpg")

» Opencv
import cv2 :

img = cv2.imread( 'example.ijpg’')
img gray = cv2.cvitColor(img, cv2.COLOR BGR2GRAY)
cv2.imwrite('gray-opencv.jpg',img gray)
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—{E{EE{Z(PIL)

from PIL import Image

img = Image.open('example.jpg')
img _gray = img.convert('L')
img_gray.save("img_gray.jpg")
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def filter(i):
thr = 127
if 1 = thr:
return 255
else :
return @
img thr = img gray.point(filter)
img_thr.save('img-threshold.jpg')

—{E{EEI& (Opencv)

import cv2

img = cv2.imread("example. jpg") |_’ 7 '/_Z/T_)l/ﬂ:.
img gray = cv2.cvtColor(img, cv2.COLOR_BGR2GRAY)
ret, thr = cv2.threshold(img gray, 127, 225, cv2.THRESH_BINARY)
cv2.imwrite('img-threshold.jpg', thr)
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img gray = img.convert('L")
img _gray.save("img gray.jpg")

def filter(i):
thr = 127
if 1 = thr:
return 255
else :
return @

img_thr.save('img thr.jpg')

img = Image.open('example.jpg"')

img thr = img gray.point(filter)

img rgb = img thr.convert('RGB')

size = img_rgb.size
print
print
hor = [@8] * size [0]
ver = [@8] * size [1]
pixel = size[®] * size[1]
print

for x in range (size [0]):
for y in range(size [1]):

r,d,b = img_rgb.getpixel((x,
if r_== 255 or @ == 255 or b == 255:
hor[x]l= hor[x] + 1

'the number of pixels on X axis:'
'the number of pixels on Y axis:'

'the pixels of this image:’

,pixel

y))

,size [0]
,size [1]

A 4

verfyll= wver[y] + 1

v = np.array(hor)
plt.figure(figsize=(10, 4))
plt.plot(np.arange(len(y}), v)
plt.show()

hor: X
ver: Y&

Lhpc@ihpc-OptiPlex-9020:~/p

ython-explain$ python pixel.py

he number of pixels on X axis: 30
he number of pixels on ¥ axis: 2146
he pixels of this image: 6566760
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import os

import os, sys

from PIL import Image
import numpy as np

pathi

', /batch/"

path2

'. /batch_gray/'

A 4

files = os.listdir(pathl)
n = len(files)
print 'the files: ',files
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for Fir in range (®,n):

path3 = pathl + files[Fir] + '/'

imgs = os.listdir(path3)
print 'the images: ', imgs
m = Len(imgs)

path4 = path2 + files[Fir] + /'

if(not(os.path.exists(path4))):
os.mkdir(path4)

05.path.joln(path2, TLlles|[Fir])

| ZHILEDFE LR
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for Sec in range (®,m):

path5 = path3 + imgs[Sec]
pathe = path4 + imgs[Sec]
image = Image.open{paths
image gray = image.convert(

A\ 4
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image gray.save(patho)
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ihpc@ihpc-0ptiPlex-9020:
the files: ['filel', 'file2', 'file3']
the images: ['imgl.jpg']

the images: ['img3.jpg', 'img2.jpg']
the images: ['img6.jpg', 'img5.jpg', 'img4.jpg’']

M2 TRYJ5LETHR



t5E Z R AR

A ESHEHEWNREE
25k(ua v v)




H R

i

MRER:
12

ZRT LA

> HjALIE

> T#X I‘*ﬁ an

> TXXMIIUERY

> NFERHE

||'I

RERF M

RERTER

|1

nll

4

LD ESERDERE

10



INT. I LXEDE
LTS

15

i
WR | =
T
=~ ve s
K E > S %
16 H

A=k

!
BX

XF[F

¢« {FLXFEDN\)I—30N%1N
o NELEH

EJ)

. BRES

i
—

AR S N AR o
P APOITS VAR
B ROROGERISIE
S £ P S QAR

1
78 SR |




Eﬂ% H H

[ R A0 322

T. XEE:

y, NF g

&;*4§$E€ 1LVT,

5 D b

xﬁ,%@u@

S XFREETOEEILE

EORGEELCFRECER

e

iz

ARU-NetT |
FAMRH

EZEL=-XFEH

Xt L

*E’L\

TX Xk » AlexNetT
YU ERY PIREAE

1

iSO R T LDRN



13

L.
ml%%% -
ﬁf@ﬁml% gt B 8RG
%i&w,w{m VE@,%L?,%Q

—

d&x/,l%&,l% g%ﬁj\%ﬁw
OGRS |

w y/vwzﬁwmwh\ q?&f&;?@« i
s wasopmdate Tt

= e NN
« 5 L 5 B
1= =] Qo o =
o =l o o o o

ot 27:'_ i 3 o

ul A

g

S

o

5

=3

S

»

.

I

=}

8

N . N

<1

o

8

N

&

S

3

3
<1
T R i 8
HX j \ t l/- % E

ooooooo
nnnnnnn
8B R B & 4 8 %

=

| Ef@amé Zgéﬁ@i
Gl A ) o B g [ Ae
B e S e
| %ﬁ%#&ﬁﬁ&%k&.m
R e 2 ks s

%?M? E@%L%%

é&.ﬁn.%fﬁlé 2 e
s S OB R zw}%w.m

A2 ok 2 ek o6 R v
#%@g,@é&@{@ 4

PR

= Rl | L

@ | g | R
A o R N o B
I
- &

[

€I
A%
Bh
}
RERELEER

HIALIE (1/2)



B (2/2) : RERE

)R X
* i 2000
P
B2 _{E{t 177 |
v | okt vt @

fo) = i :‘QNMQ«\JQ/w QQAQ‘@WWA -—;3::’)
l: 7 't’ ) l/ E-l_ ‘ R B RSN Y M R R —

| P Yo e~ Do G 6 Q] —1
R L N NN W T NG —+=
| ST ROR N G S (s aet 1 g f;:jjgg
—_— - 1 N i e e S L —
THMmEHE | ST | ==
A i :k) R S e WL I 5 g i
wmw‘i S NS NCALNY T
v 3 LR Sy (ol e\ | —F

—_— -— ! ___1___:ﬁ%uh___________ | M—

TEHEZE AT | | 1 *-)-:

V) EERDEE
E?%Fmﬁﬁ

B{EHvk

B¢

—
B¢
It

S s N i AR AR R S

I MTAD AR R Yo S SRS
B R B ) =

£BEkE g

%
) %
i

T

Jedrca N P AN Y

PR RIS A R X
)

Sy e A AR TS

DN RGBS e S5
SIS AT I

SRS S SN

* s i
cEERELEERG Hil




T XX FEH(1/2)

ZfER

RET S5-I

i.

DXET

==
—
=

TI)L

. ARU-Netld, FEH X
l/ T: 5;21% $>EI

0RO,

SRYP QIR o8 rashiins

RGO VISR % on
S GRS R s e
BROIG DVt

QT et FHRN S

4 sk wpr >
e D R MO
R N R

SEROVERISE oed [Ty e
FRCRC AN HORERCARY [ttt (oo
O . gt S R e 5
RUBROC R0l | nections, S
KSR R KRS
ROV SNOUOROTE o, PO et mmos

15




T ¥ R MMEHI(2/2)

Elf& % ARU-Net T2[EI AL 3
- L

P Bt R Wﬁ\wgfq
e R s | oy B El Se
ﬁgé«a\*\—;ﬁ\»%r%&m@%%w
S S B B R 2 50 s
A %a«{ 8 &8 &ﬁww,__;

11l

X1 T e T A N A
EoE ook G TN N N AR |
RN 0 B E Yy By R EST TR
@wm SR Nt g b AR e A N R e
Wﬂw\t&%“ S —E@wwa\ T

K3 TXRAMEHEER

'S [ S S e
Wﬂswwm ﬁiw@m




TXAMJYHY

o FRUIMEEFTWVEBOTEXREYIVUERS
. J:yb\bm%mﬁ@l/sﬁ?éf’c)ﬂ)Lﬁ(lja'ﬂz}

|
SCLy s
o Tf;‘% |
5 YRy — Py
3 % Ca

t T BN .
o IShNGE
¢ AN <
R T

—
4_‘2'-)
L@—w-¥ S

ARU-NetTHEH#ER XFZYYEY



X FERH (AlexNet)
gy L-EgZ TR

nru\niﬂz¢7b HX :E) = L\ntu\n%%ﬂ:% iC_Jc:]:R (3]_‘ A

7990.2%

"150.4%

F946.2%

H90.5%

H100%

Mi8.8% M1.0% | {18

M130.2% PH19.4% AR

e |

\ A%
H37.5% H16.3%

er]
F9.0% [10.5% /Z]

H0.0% H0.0% /El

R

i

W

18



AXFL— :7/"7 2
(http://codh. rois. ac. jp/) dD ;3

[&] F1).

g

25—

gl ([2F&S

A1 &S : 200015779) (3LFFE : 1817 XF#X : 60381)
HERIS S -
OS : ubuntule.04 LTS

O N N = :E
20795 = &g - Python

UUUUUU U+304 U+304B U+306 U+306F
D w ya) LAY &

2016 1514 1503 1336 1330
U+3089 U+307E U+306B U+300C U+3068
5 F (e r E

1160 1079 1073 1072 1043
U+3064 U+3078 | U+308B U+3084 | U+3060
2 ~ 3 D Iz

952 945 912 884 869

MFFEEXFE(—ER)

No—=2 5 {4

19


http://codh.rois.ac.jp/

NL—Z= 2 E{EE N

==V TR ELTWAST=H., T—% vy bz

1 hn
1D FL—Z=ZV T EEBOXFERLE, T, £. Ait4AMIZ,
TNEN25L50 */Jt)lﬁzéﬂ
(R + 48 m*2/83 —> = OMUZHiEER)

AlAAlIAlA

XEHEHI(25E VL)



RERTE R

i e N —BEELERN L,

aEL

— &R D F

H(FRLNVET -

< /712)

(j: - Lz( ntb\nﬁ—égf: 7b§s

=]

— &R &1

_L<nrb\njﬂzfé—fd~

—EEVRHE

ANy

—
[ra—— o= 3 U+4E00/0 11 | A 100, 0%
?-l s |§9 %7 ) D) b7 012 A 'uul.‘u:{x
[N [Ev i § 7 U+4ED0/0 13 E. 46.34%
0_5jpg 0_6jpg ' - 9, U+4E00/0_14 (% 66. 56%
lﬂu vt El /il U+4E00/0_ la 5 73.23%
/21 /El / U4l & 06,075
/2‘ e L+4I:UU,-’U_1? s 35.759%
0_10.jpg 0_11.jpg 0_12.jp —13.JPg 0_14.jpg E+4EUUfU_lS o '54 . T5%
J =3 % A U+4E00/0_19 #] 67 . 63%
A % % 3 U+4E00/0_2 — 59.7%
. _ , SR 417;)_ U+4E00/0_20 £ 68 . 46%
0_15.jpg 0_16.jpg 0_17.jpg 0_18.jpg 0_19.jpg L'+4|:'UIU,"U_21 ’.{-}F 'TU o5
e > » | ?Q) ’T I'a.fll..'rl.r'.!afn_m:_ls_é_ 0%.51%
,;é) 7%’ 7? < 2 $ U+4E0Df0_23 # '36.93%
0.20jpg 0.21ibg 0.22jpg = Z‘S.jpg & z:.,-pg U+4E0D/0_24 % '49.98%
;' & _‘ i U+4E0Df0 25 A 65.41%
2 < <’.\/.’:l U+4ED0/D 26 & (19 27%
ﬁ- )2 )% r : 27 | 03.72%
0_25.jpg 0_26.jpg 0_27.jpg 0_28.jpg 0_29.jpg I‘-+4EUU-"’U—28 ﬁ 97.72%
U+4E00/0_29 |F 23.21%

ST RG2S

B
B,
A

= 3w

N T M T

.|

0.
0.
40.94%
4.
6.
1.
18.18%
33.65%

"l

bl

h

. |

.|

|

.l

|

0%
D&%

TESE
H48%
04%

14.1%
26.1%

. |

. |

8.
10, 53%
2.
12.84%
33.23%
6.
41.75%
4.
1.
8.

|

.

|

. |

.|

bl

h

|

. |

oTh

T6%

5%

a7%
9%
32%

3
3
3
%
£
B
#
#

i
e
1t
4

3
&

i
s

S E SR EaES RS S EArS =T

0%

L01%
L13%
.25%
.B61%
.8T%
L09%
LT2%
8%

L93%
.62%
L23%
. 46%
2%

.B67%
. D6%
LT3%
. 6%

.18%
L67%

N EMNWOWLL EDFERDH

21



FEHES
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